Mode of Laying in Fayoumi and White Plymouth in Subtropics at Different Seasons

M. A. Kheireldin, G. A. R. Kamar, A. Darwish and M.M.Ali

Animal Production Department, Faculty of Agriculture, Cairo University, Giza, and Assiut University, Assiut, Egypt.

The favoum and 13 white Plymouth Rock pullets were available during the first year of laying. Fayoumi pullets produced 4322 eggs which comprised 935, 668, 356, 127, 53, 21 and 12 clutches of 1, 2, 3, 4, 5, 6 and 7 eggs laying cycles respectively. Plymouth pullets produced 2767 eggs having 887, 499, 191, 41, 19, 6 and 2 clutches of 1, 2, 3, 4, 5, 6 and 7 eggs laying cycles, respectively.

The highest rate of egg production was observed during spring and summer months and the lowest rate was observed in winter and autumn months. Egg weight, increased during winter and autumn months and decreased during summer and spring months. The larger clutch size was observed during spring and summer months. The first egg in the clutch was laid earlier in the day than the succeeding eggs. The Fayoumi birds laid more number of eggs and longer and larger number of clutches than the Plymouth Rock.

The peak of egg yield occurs during winter and spring months when moderate temperature is prevalent, while production is lower during summer and autumn months (Kamar, 1962). The spring egg number represents 37-50 % of the total yearly production (Obeidah, 1956). Nora et al. (1965) reported that the percentage of egg production was low from mid December to the end of February, then reached the maximum from March to mid June. From mid June to August, when the weather was hot, egg production decreased. Under the same environmental conditions, the different breeds produced eggs at different rates and showed different seasonal trends (Samkari, 1962).

After sexual maturity, eggs increase in size, reaching the maximum after 3-5 months from the commencement of laying (Vainikaines, 1960). There is general agreement that egg weight in hot months is lower than in cold ones. There is a steady decline in egg weight from March to June. Afterwards, there is a rise in egg weight during the period from August, to October (Kamar, 1962).

Material and Methods

16 Fayoumi hens of 6 months of age and 13 white Plymouth Rock hens of 8 months of age were used in this experiment for 21 months. Every breed was housed in separate house with open and shaded yards during the whole period of the experiment. A trapnest was used for each four hens to record individual egg production. The birds were fed a balanced mash diet during

all the experimental period containing 17.32 % digestible protein and had 65.71 T D N. The clutch size was determined by the number of successive days on which one egg was laid or a group of eggs were laid successively forming a one laying cycle. The monthly mean clutch number of each breed was determined by dividing the total number of clutches on the number of birds of the breed. The monthly clutch size of each breed was determined by dividing the monthly clutch number on mean clutch number.

Results and Discussion

During the whole experimental period the Fayoumi breed laid larger number of eggs associated with longer and larger number of clutches than the white Plymouth Rock. An exception to that was the clutch number during April and December and clutch size during september in the plymouth Rock. In Fayoumi, the average monthly egg number, clutch number and clutch size were 13.86, 6.96 and 2.00 eggs respectively. While with the Wite plymouth Rock it was 10.09, 5.99 and 1.70 eggs respectively (Table 1). The differences between breeds in egg number and clutch size were highly significant, but the differences between breeds in clutch number were significant (Table 2). This may be due to the fact that the Fayoumi is more adapted to Egyptian conditions than the Plymouth Rock.

In both breeds the high rates of egg production were observed during spring (March, April and May) and summer months (June, July and August). Meanwhile, the low rates occurred during winter (December, January and February) and autumn (September, October and November). The highest egg number in the Fayoumi and the Plymouth Rock was observed during March, being 25.8 and 17.6 eggs respectively. On the other hand, the lowest rates of egg production took place during October with corresponding values of 8.04 and 7.00 eggs for the Fayoumi and White plymouth Rock, respectively. In Fayoumi, the longest clutch size was observed during February with an average of 2.83 eggs and the smallest clutch size was during December with an average of 1.46 eggs. Also, in the plymouth Rock the longest clutch size was observed during February (2.39 eggs) and the smallest clutch was observed during December (1.00 eggs).

Analysis of variances (Table 2) showed highly significant differences (P 0.01) between months in egg number and clutch size. The differences between months in clutch number were significant (P 0.05).

The increase in hr of daylength during spring and summer had a favourable influence on egg production, causing the observed increase in egg number and clutch size. Besides, the decrease of daylength during winter and autumn caused the decrease in the rate of egg production during this period. Similar findings were reported by Obeidaha (1956) and Kamar (1962). Moreover, such results indicated that clutch size increased during the winter and spring months and decreased during summer and autumn months. The only exception from this trend was the low egg number and clutch number during May which may be due to the Kamasien winds (sort

TABLE 1. Monthly variations in egg number, clutch number and size and egg weight in the Fayoumi and the White Plymouth Rock breeds.

		Fayoumi Plymouth Rock								
Months		Clutch number	Clutch size	Egg weight (g)	Egg number	Clutch number	Clutch size	Egg weight (g)		
January	15.85	6.85	2.31	47.33	6.83	3.26	2.10	14 14		
February .	14.58	5.15	2.83	48.07	10.70	4.47	2.10	54.22		
March	21.58	7.81	2.76	47.66	17.65	7.74	2.39	54.57		
April	17.08	7.07	2.42	45.60	14.70	8.26	2.28	53.16		
Мау	12.73	5.62	2.27	44.24	7.96	4.52	1.78	53.78		
June,	15.89	9.85	1.61	45.42	8.96	6.17	1.76	52.93		
July	15.15	7.46	2.03	44.59	10.83	6-83	1000000	49.28		
August	15.96	8.62	1.85	46.01	12.44	7.26	1.59	49.28		
September .	8.04	5.35	1.50	46.41	7.00	5.00	1.40	50.99		
October	8.04	5.35	1.50	46.41	7.00	5.00	1.40	56 59		
November .	8.96	5.85	1.53	46.88	7-38	5.04		56.59		
December .	8.96	6.12	1.46	47.70	7.13	7.13	1.46	59.86 57.78		
Average .	13.86	6.96	2.00	46.30	10.09	5.99	1.70	53.63		

TABLE 2. F. values for egg weight, egg number, clutch number and size as affected by different months in the Fayoumi and the Plymouth Rock.

Sources of variations	Egg weight	Egg number	Clutch number	Clutch size		
Between months	2.3097	9.0301**	4.9651*	14.8314**		
Between breeds	27.0115**	31 - 2622**	2.8708*	20.8045**		

Significant at 0.05 level

^{**} Significant at 0.01 level

	Total	935	899	356	127	53	21	12	887	499	191	4	19	9	
	Dec- ember	92	61	9		1	Î	1	165	1	ļ	1		1	
	Nove- mber	85	09	1	7	ï	Į	I	80	36		I	I	J	
	Oct-	200	53	set	<i>eo</i>	1		1	7.3	90 00	7	f.	ţ	1	
	Sept- en:ber	127	19	Çī	03		Ī	1	87	43	CI CI	m	-	1	
	August	100	69	46	7	-	î	Î	78	19	18	1	4	1	
δ Ω	July	63	78	40	01	rs	Į,	1	98	57	10	8	-	-	
Months	June	146	74	27	۲	7	I	1	101	26	10	60	-	***	
	May	46	44	38	12	7	663		49	36	14	N)	I	1	
	April	09	46	46	17	9	7	7	74	68	30	3	4	-	
	March	50	40	62	25	17	ന	9	41	69	52	y-red y-red	m	2	
	February	28	32	33	24		50		26	32	32	00	33	-	
	Japuary February	59	20	42	13	Amed	y-1	2	27	28	11	9	2	1	
Clutch	Size	-	2	65	4	2	9	7	,-	64	3	4	5	9	
	Breed				Fayoumi							Plymouth Rock			

Egypt. J. Anim. Prod., 15, No. 1 (1975)

Total 43.05 30.75 16.39 5.84 2.44 0.97 0.55 53.92 30.33 11.61 2.49 1.16 0.36 0.12 Dece-mber 9.84 Monthly variations in clutch percentage from the whole year of different lengths for both the Fayoumi and the White Plymouth Rock, 111111 Nove-mber 8.98 8.98 5.51 7.21 Oct-8.45 7.93 1.12 2.36 8.23 7.62 2.09 Sept-ember 13.58 9.13 3.37 1.57 4.76 9.80 8.42 5.24 7.32 5.26 10.69 10.33 12.92 5.51 1.89 4.76 8.79 13.43 9.42 21.05 Aug-6.74 111.67 111.23 7.87 5.66 9.69 111.42 5.24 4.88 5.26 16.67 July 15.61 11.08 7.58 5.51 3.77 June 5.21 5.24 7.32 5.26 16.67 Months May 4.92 6.58 10.67 9.45 3.77 14.29 8.33 5.52 7.21 7.33 12.20 April 6.42 6.88 12.92 13.38 111.32 33.33 8.34 13.63 15.71 7.32 21.05 March 5.35 5.99 17.42 19.68 32.08 14.29 50.00 4.62 27.23 27.23 26.83 15.79 2.99 4.79 9.26 18.89 20.76 23.81 8.33 29.93 6.41 16.75 19.51 15.79 16.67 50.00 Febr-uary 6.31 7.49 111.79 10.23 20.76 4.76 16.67 Janu-ary 3.04 5.61 5.76 14.63 10.53 Clutch size - UN 4 5 5 F 1004000 Plymouth Rock 4 Breed TABLE 4 Fayoumi

Egypt. J. Anim. Prod., 15, No. 1 (1975)

of hot sand storms). The egg number decreased from 17.08 eggs during April to 12.73 eggs during May in the Fayoumi and from 14.70 eggs during April to 7.96 eggs during May in the plymouth Rock.

It was also found that the decrease in daylength than 13 hr in some autumn and winter months was associated with the decrease of four, five, six and seven egg laying cycles in these months. Meanwhile, the absence of these long clutches during June, July and August (summer) may be due to the increase in air temperature during summer (Table 3). It can be stated that both moderate weather coinciding with long days are essential for the hens to lay long clutches. As the length of the clutch increased, its percentage from the total clutches decreased (Table 4).

Table 1, shows that the heaviest eggs were laid during winter and autumn months when the decrease in egg number was compensated by the increase in egg size. The lightest eggs were produced during hot summer months, a result is normally observed in the northern hemisphere. The differences between months in egg weight were not significant (Table 2). The increase in air temperature during summer months has an adverse effect on egg formation. Kamar (1962) found an abrupt reduction in egg weight, of the magnitude of 15 to 20 percent, by subjecting hens to increased environmental temperature.

References

- Kamar, G.A.R. (1962) Some environmental and physiological factors that influence egg production in the subtropics. *Philippines J. Anim. Industry*, 22, 83.
- Obeidah, A.M.A. (1956) A comparative study of some of egg recording systems to the breeding value of poultry. M.Sc. Thesis, Cairo University.
- Nora, M.A. Mordenti, and Monetti, P.G. (1965) The effect of temperature on egg production and food consumption in hens on free choice feeding Atti. Soc. ital. Sci. Vet., 18, 248.
- Samkari, M.K. (1962). A comparative study of some economical characters in Rhode Island Red, Faysumi, Baladi and their crosses. M. Sc, Thesis Cairo Univ. Fac. Agric.
- Vainikainen, V. (1959) The development of live weight of hens and weight of eggs during the laying season. Matolour ja Koltoim 11, 24.

طريقة وضع البيض في الدجاج الفيومي

جمال الدين قمر ، محمود خير الدين ، عبد الجيد دوريش ومصطفى على كليتى الزراعة بجامعة القاهرة وأسيوط

استعمل فى هذا البحث ١٦ دجاج فيومى و١٣ بليموث أبيض أنتجت ٢٣٢٤ بيضة بليموث مقسمة على دورات وضع بيض ١ ، ٢ ، ٣ بيضة فيومى و ٢٧٦٧ بيضة بليموث مقسمة على دورات وضع بيض ١ ، ٢ ، ٣ ، ٤ ، ٥ ، ٦ ، ٧ ووجد أن أعلى انتاج من البيض كان فى أشهر الربيع والصيف وكان أقل انتاج من البيض فى أشهر الشتاء والخريف ، ويزداد البيض فى الشياء وينخفض فى الصيف ، نوحظ أن أطوال سلاسل وضع البيض فى أشهر الربيع ، وكان وضع البيضة الأولى من السلسلة فى أول النهار عن البيض التالى الذى يوضع متأخرا فى النهار ، ووضع الدجاج الليموث الفيومى عددا أكبر من البيض وكانت عدد سلاسله أكثر من الدجاج البليموث ، الأبيض ،